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2018(*F B30V EE
REE . RKEHRR BGL: pg/me
R HIR0.1 y mAK i #1120.1~05um #11205~10um $1121.0~254m #11%25~10um
FHIE RAIE FHIE mAIE FHIE mAIE FHIE RAIE FHIE RAIE
BEERE 24 46 2.1 34 37 6.6 48 7.3 75 10.7
it 0.0021 0.0055 0.0070 0.028 0.013 0.063 0.039 0.12 052 0.98
LT 0.033 0.075 0.058 021 0.17 0.54 0.38 11 13 18
WREEAAY 0.23 0.33 0.70 11 14 22 13 27 0.38 0.65
Aty 0.014 0.024 0.030 0.040 0.046 0.066 0.055 0.073 0.028 0.046
2% FRUY LAY 0.0033 0.0050 0.011 0.019 0.018 0.026 013 0.18 0.56 075
TURZ I LATY 0.095 013 0.26 0.38 055 078 042 0.83 0.042 0.12
HULAF 0.0061 0.0083 0.018 0.022 0.033 0.049 0.035 0.056 0.034 0.041
RTR I LAFY 0.00045 0.00073 0.00052 0.00097 0.0015 0.0021 0.021 0.026 0.080 011
PV ILAFY 0.0055 0.0071 0.0045 0.0060 0.0066 0.0090 0.045 0.058 021 0.32
oo 0.63 0.80 - - 1.0 13 1.0 13 0.68 079
NN THRRKRFR 0.14 0.19 - - - - - - - -
Bk ER 0.49 0.66 - - - - - - - -
KBHEHRER 0.40 0.60 0.46 0.99 0.62 11 052 0.99 0.27 043




2018(F A30)E B

FHthE . AER—ILMBS(EAET) B4 pg/me
15H
RIR0.1 1 mKiH FIfR0.1~05um FIR05~10um FIfE10~25um HiE25~10um
FHIE RAIE FHIE mAIE FHIE mAIE FHIE RAIE FHIE RAIE
ERE 25 53 2.0 37 39 7.1 44 6.4 7.4 10.2
it 0.0045 0.012 0.0073 0.029 0.019 0.077 0.047 0.18 047 0.97
T R s 0.052 0.12 0.063 0.20 0.23 0.82 0.39 11 12 17
L] 3 0.24 0.44 0.64 11 16 2.3 12 2.7 0.37 0.58
Aty 0.015 0.028 0.030 0.053 0.054 0.075 0.056 0.082 0.029 0.048
FRUD LAAY 0.0032 0.0048 0.0073 0.011 0.018 0.029 013 0.17 0.52 071
TFUEZ D LATY 0.10 0.16 0.24 0.38 063 0.84 0.38 0.74 0.043 0.16
HUY LT 0.0061 0.0093 0.014 0.018 0.034 0.056 0.033 0.063 0.032 0.040
TR LAFY 0.00050 0.0010 0.00047 0.00085 0.0017 0.0022 0.020 0.025 0.073 0.099
P LAFY 0.011 0.024 0.0068 0.017 0.0091 0.014 0.055 0.079 0.23 0.31
Eo 0.66 0.85 - - 11 14 1.0 14 0.74 0.91
TRRRER 0.18 0.25 - - - - - - - -
AR 0.48 0.63 - - - - - - - -
KBHEEHRER 0.40 0.61 0.44 0.98 072 13 048 075 0.28 045

FED) ERT AT MAMMITBIEN KRFFIIRERMKERESHERCENT, F/H40T5—2ANT, F-E-M-L2F(21EM x 20, REAKFOH FRNEZMFEIERERL, TORER
VHFRMEFDAF VS REBEADFITOVTHHEToRHDTH S,

T2) FHEOREHIZH-->TIE. RETRIERFBDZSIFRH TRIEDL/2&LT=,




